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2.

The question paper consists of two parts: Part A and Part B.
Part A of the question paper consists of 25 objective (multiple-choice) questions of one

mark each. There will be a negative mark of Uy for every wrong answer. You must
answer the questions in the question booklet itself.

Part B consists of short and long essay type questions. (A separate answer
\ ¢

provided)
Part— A

. According to Socrates, just as there is a difference berween v@mh slatement says

and its true meaning, 50 also appearances differ from reali gh societies or
individuals appear to differ about what is required ¢, that
contradicis the fact that:

in no way

A. what is right or wrong, true or false vati one culture to another.

B. appearances arc the only real or knowing reality.

C. the distinction of appearance is the basis for the dialectical discovery of
truth. . ;

D. there are objective pfi or thought and action that are required for the good life.

[ ]

For P i sensible objects exist and are knowable as examples or instances of
| * that do not exist in our ordinary sensible world. Forms do not exist in

% world because ...
. in the sensible world only mathematical objects (e.g., triangles) can be known using

2

hypotheses which are recollected when we zre asked the right kinds of questions.

B. unlike everything in the sensible world, Forms are not individual things but rather the
universal essences or natures by which individual things are what they are and are
known.

C. nothing in the sensible, experienced world could exist or be identified as one particular
thing or another unless there were a "Sensible Weorld" Form (like the Form of beauty
o justice).

D. the sensible world consists of changing Forms that exist and arc known in terms of other
changing Forms, which in turn exist and are known in terms of yet others in an endless

TEgress.

www.sakshieducation.com



www.sakshieducation.com

. Berkeley rejects Locke’s distinction between primary and secondary qualities hecanse:

A. All qualities are subjective

B. Only secondary qualities are subjective

C. Qualities are created by God

D. Qualities inhere in substances L |

4. Which one of the following is an analylic statement according to Kant?

A. A rainy day is a cold day

B. A rainy day is a wet day

C. A rainy day is a pleasant day

D. A rainy day is a gloomy day [ 1

5. Which one of the following is the most appropriate description of God according to

Aristotle? OO

A. Pure form and perfect actuality
B. Pure matter and perfect actuality
C. Pure form and pure potentiality Q

D. Pure mattér and pure potentiality ]
6. Match List I with List II and select the correct answer 6%* given below:
List 1 : .
a. -Aristotle i, Trz dental unity of apperception
b. Spinoza i F iblished harmony
c. Leibniz Inmidved mover
d. Kant . @ pcllectual love of God
Code: \
@® 6 © (@)
A, i 1 1 ii
B. b v i i
C. i i iv il
i i I [ ]
u.-;padn states that:
A. Whatever is, is momentary
B. There is no permanent self
C. Nothing is permanent
D. Whatever originates, originates depending on some conditions [ ]

8. Paratahpramanyavada claims that:

A_ Pramanya cannot be ascertained at all by any pramang

B. Pramanya is self-ascertained

C. The causal conditions that produce prama produce its pramanya also

D. The causal conditions that produce prama do not produce its pramanya [ ]
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“The highest and most satisfying form of human existence is that in which man exercises
his rational faculties to the fullest extent” is the view of ...

A. Socrates
B. Aristotle

C. Heidegger
D. Pythagoras [ 1

10. Aristotle says that what makes things be what they are—their essence--does not exist apart

from individuals that exist in the world. So if all the members of a species were destroyed,
then their essence or form:

A. would likewise be destroyed.
B. would be destroyed only if there were no one around to remember the species.
C. would continue existing (as with Plato's Forms) in some other realm of being.
D. would not be destroyed because there was no essence or form originally to ;
there were only individuals, not universal essences or natures of things.
[ ]
*
11. Which of the following charactenization best describes Ib‘~ phi of Spinoza?
A. Monistic determinism \
B. Pantheism
C. Pluralistic atheism
D. Mechanistic naturalism O | |
12. Locke’s representative theory of W:
A. Knowledge isa m&!le@(
le
~ [ |
13. The revious rain at higher planes on the basis of the perception of muddy
verflowing river is an instance of ...
%Mmrmﬂnmm
o B. Sesavatanumana
C. Kevalanvayilanumana
D. Samanyatodrstanumana | ]
14. “Fire is cool because it is a substance”, commits the fallacy of ...
A, Savyabhicara
B. Viruddha
C. Bhadhita

D). Aviddha I ]
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15. Jaina theory of syadvada implies that ...

A. All knowledge is certain

B. Al knowledge is doubtful

C. All knowledge is relative

D. All knowledge is absolute [ 1

16. The effect is the actual modification of a cause, is the view of ...

A. Asatkaryavada
B. Parinamavada

C. Vivartavada
D. Pratiryasamuipadavada [

17. ‘Good is a simple and unanalysable notion’ is a case of ...
A. Subjectivism OO

B. Prescriptivism

C. Emolivism .

D. Non-naturalism . Qm [ ]
18. Among the following, the statements that are not % .

I. Copemicus believed that the

. The earth is round and Copemni
II.  Itis possible that
IV.  Itisnot the case 15 not round

A. lland IV . @
B. I, Il and ITI \
C. land I
D. 11l and I ]
19. establishes the infallibility of the authority of the Veda on the ground
C‘?‘Fﬂlﬂ is the word of God
o B. Vedais the word of the sages

C. Veda is the word of the trustworthy person
D. Veda is impersonal [ |

20. 1 can know validly that the hill is fiery, by actually seeing the fire on the hill. I can also
know equally validly that the hill is fisry through inference. I can also know through
testimony that the hill is fiery™. A person subscribing to this view is upholding the theory
of ...

A. Svatahpramanyavada
B. Pramanavvavastavada
C. Pramanasamplavavada

D. Parathpramanavada [ ]
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21. “Somec one knows that the criminal escaped from the prison on account of collusion with
the second guard of the prison, because he knows that there are only two guards and he
definitely knows the first guard was not involved in the collusion™ is according to the
Mimamsakas an instance of ...

A. Inference

B. Hypothetical reasoning
C. Presumption
D. Doubt [

22. Match List I with List IT and select the correct answer from the code given below:

List I List II
a. Gangesa i. Vivekacudamani O
b. Badarayana ii. Tattvacintamani
c. Sankara iii. Padarthadharmasangraha
d. Prasastapada iv. Brahmasutras .

Code: &\
gﬂ {:3 {E I[i;]l C)?
. it i E ]0 ”l

C. ii
; ] (

v
i
D. v iii
2
23 Ina qmnﬁﬁcatinw in symbol is used as ...

: i [
2#.@} is tautologically equivalent to all of the fellowing except
A.~P.Q
B. (P=Q)P
C.~ (-P.-Q)
$ D.(P2Q 5Q [
25. If the universal negative proposition “No 8 15 P” is true, which of the following must

hold? (Assume Traditional square of Opposition)

A. All § is P true and some S is not P is false

B. Some Sis P, some S is not P and all § is P are false

C. All Sis Pand some S iz P are false and some S isnot P is true

D. All Sis P is false and some S is P is true [
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Part —

Section- 1 20 Marks

Write short notes on any Four of the following in 250 words cach. All questions camry equal
marks.

1. What is the semantic implication that follows from Berkeley’s statement “esse est
perceipi’?

Why does Spinoza think that God alone is absolutely real? Explain,

 Comment on Plato’s analogy of the cave and its significance in his theory of knowledge.
Explain the meaning of Kant's notion of ‘Transcendental unity of apperception’.

What does Rawls mean by “a fully adeguare scheme of equal basic liberties™?

Does the effect pre-exist in the cause? Discuss.

What is dharmabhutajnana and how is it different from sva .

8. Explain the Jaina theory of nayavada. &\O
(,@‘ sk

. All questions carry equal marks.

il

I

Section- 2

Answer any three of the following i

1. How is the empiric Heidedgger different from the manscendental ego

in Husserl?
2. Wh % { be defined without circularity? Answer your question with
re ne’s arguments.
@5 process of the dialectic as used by Hegel? How does this differ from Plato's
tic?

and extraordinary perception. Discuss.

$ 4. Discuss the relation between the individual and the state in Liberalism.
$ 5. 'What are the reasons for modem Naiyayikas in instituting a distinction between ordinary
& 6. Bring out the metaphysical implications of pratityasamuipadavada
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UNIVERSITY OF HYDERABAD

DEPARTMENT OF PHILOSOPHY
M.Phil Entrance Examination, June, 2010

Hall Ticket No =—emm—e—rmeeeas

Time: 2 hours Max. Marks 75
Instructions: @
The question paper consists of three parts: Part A, Part B and Part C.
Part A of the question paper consists of 25 objective (multiple-choice) typ ions of
one mark each. There is a negative mark of 'fy for every wrong an You must

answer the questions in the question booklet itself.

Part B consists of 15 objective (multiple-choice) type
on reading and comprechension of a passage. Tl:mu ative marking for
wrong answers. You must answer the quashn ion booklet itself.

Part C has two sections consisting o 0 g essay type questions. (A separate
answer book is provided. }

1. The Two - Wﬂ!rld ]}mpuwﬂed by

(A) Su

(B)
{g}% of the above [ ]
Esse est percipi” was held by

@& (A) David Hume

(B) Karl Marx
(C) George Berkeley
(D) Jean-Paul Sartre [ ]

3. Theoretical ideas, according to Kant,
(A) are constitutive of experience
(B) are abstracted from experience

(C) regulate our thinking about matters of fact
(D) none of the above [ ]
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According to Popper's Theory of Verisimilitude truth is

(A) an inter-theoretic concept.

(B) an intra-theoretic concept.

() both an inter-theoretic and intra-theoretic concept.

(D) neither an inter-theoretic nor an intra-theoretic concep.t | ]

“He believes that she will pass if and only if she studies for at least four hours a day.”
Thas statement 15

(A) a non-truth-functional compound statement. O

(B) A truth-functional compound statement.
{C) Not a statement at all. O
[

(D) None of the above ]
*
The absolute moral principle, in Kant’s Ethics, has . OQ

(A) Theoretical objectivity.

(B) Practical objectivity. @
(C) No objectivity at all, O

(D) Both theoretical and practical objectivity,

An object of aesthetic experien to Kant, embodies

(A) purposiveness with

(A) asstate of mind.

B)% social condition.
a product of imagination.
(D) none of the above. [ |

Suppose you had the following information:

N\
o

Two collectors, A and B, are each selecting a group of wildlife prints from a group of seven
prints T, U, V, W, X, ¥, and Z. No print can be in both groups. The selections made by A and B
are subject to following restrictions.

(i) If U is in A’s group, W must be in B's group.
(ii} T and Z cannot be in the same group.

(mi) If X is in A's group, Z must be in B's group.
{iv) W and Y cannot be in the same group.

Now answer questions 9 - 13:
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9. If X is in A’s group, the one that cannot be m B's group is

(AYT
(B) U
(CyV
DyW (O

10.  Which of the following pairs of groups selected by A and B conform to the restriction? @

A R
(A) T,U,V W, X, Y O
(B) T.UZ V., W, X
(C) U.X, Z TW.Y
(D) V., W, X LY, Z

®
11. IfUisin A's Eroup, which of the ﬁ.'r]lowh‘lg 15 truc? \\:

(A) T must be in A's group.

(B) Y must be in A's group. O
(C) V must be mHsgmup
(D) Y cannot be in B's gmup

12 IfUand X are in A's \ must consist of
(A)T, Wand Y %

BT.Y,
Vv, w
o)V, ‘!’

13. JfT 's group, which of the following is true?
\
@} U cannot be in A’s group,

{B) X cannot be in A's group.

!$ (C) Y cannot be in B's group.

=
(S

—
b

(D) £ must be in B's group. [ ]
14,  Inaformal proof of validity,

(A) all the lines are self-evident.

(B) no line 15 self-evident unless it is a tautology.

{C) some lines are self-evident.
(D) none of the above | ]
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Consider the following statements made.

Mita: Suman stole the pen.

Atul: Tony, Mita and I could not have stolen the pen.

Charlie: | have not seen the pen.

Tony: 1 have seen the pen and so has Atul,

Suman: Mita stole the pen. So, Tony, Atul and Charlie could not have.

15.  Ifall the above statements are false, who stole the pen?
(B) Suman : O

(C) Tony
(D) none of the above

]
\ ¢
16.  Choose the correct statement. . OQ
A: According to Sankara, the world 1s an appearance. Q\\

B: Sankara was the supporter of Parinama vada,

(A) A is right and B is wrong. O
(B) B is right and A is wrong.
(C) Both are right.

(D) Both are wrong. ¢ [ ]

17.  “All that is real is a expressible in language™ is the view maintained by

(A) Sanka 6

(B) B '

(C) Jaimj

{@mda [ ]

“Fhere is no colour in air™ 15 an example of ...

(A) Anyonyabhava

|
@ (B) Atyantabhava
19,

(C) Praghabhava
(D) Dhvamsabhava [ J

According to Advaita Ffﬂﬂﬂf-ﬂ, the validity of knowledge is . ...
(A) svatah
(B) paratah

(C) Both svatah and paratah
(D) neither svatah nor paratah [ ]
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20.  Atmakhyati is a theory of error mamtained by ...
(A) Nyaya
(B) Prabhakara Mimamsa
(C) Yogacara Buddhism
(D) Advaita Vedanta [ ]

21,  Which one of the following is not a Samkhya argument for the existence of Prakriti? @

(A) Bhedanam parimanai
(B) Karanakarya vibhagat p

(C) Bhoktrbhavat

(D) Samanvayat d ]
22, Which of the following is the psychological ground for ah rding to Nyaya?

(A) Hetu it

(B) Paramarsa

(C) yapi G

(D) Paksata 0 [ ]
23.  Pramanavyavastha and pram are theories concerning ...

(A) the nature of \

(B) the nature of n

{C) the nature 1y,

(D) the nu o manas. [ ]

P cording to yoga means ...

trol of diet.
ntrol of senses.

$ (C) control of mind.
! (D) control of posture. [ ]

Match the following:

(a) Nagarjuna (1) Vishishtadvaita

(b) Shankara (1) Four Noble Truths
(c) Gautama Buddha () Madhyamika karika
(d) Ramanujacharya (iv) Viveka chudamani
(A) iv, i, i, i

(B) i, ii, iii, iv

(C) iti, iv, i, i

(D) i, iv, iii, i [ ]
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PartB
Marks 15

The passage below is followed by questions based on its content, After reading the passage,
choose the best answer to each question. Answer all questions on the basis of what is stated or
implied in that passage. Each question is worth one mark.

In patients who have survived severe brain damage, judging the level of actual awareness
has proved a difficult process. And the prognosis can sometimes mean the difference betw
life and death. New research suggests that some vegetative patients are capable of simpl
lcarning, & sign of consciousness in many who had failed other traditional cognitive CO

ich is some
state (in which
. Many of them
t's movements are

To determine whether patients are in a minimally conscious state (i
evidence of perception or intentional movement) or have sunk into a ve
neither exists) doctors have traditionally used a battery of tests and
require some subjective interpretation, such as deciding w
purposeful or just random. “We want to have an objecti wing whether the other
person has consciousness or not” says Mariano é% directs the Integrative

Neuroscience Laboratory at the University of Buengs Ax
That desure stems in part from s ﬁmmgmg work that showed that some

vegetative patients, when asked to g physical tasks such as playing tennis, still
had activity in premotor areas o “In others, verbal cues sparked language sectors. A
recent study found that abo vegetative state diagnoses are incorrect.

To explor of consciousness in patients, Sigman and his colleagues turned
to classical condit sounded a tone and then sent a light puff of air to the paticnt’s eye.
The air puff patient to blink or flinch the eye, but after repeated trials over half an
hour, ould begin to anticipate the puff, blinking an eye after only hearing the

fone.

@lﬁw stimuli are delivered at exactly the same time, even snails will equate the stimuli.

N\

the team actually delayed the puff after the tone by 500 milliseconds. To associate two
stimuli separated by that time gap, “you nced conscious processing,” says lead study author
Tristan Bekinschtein of the Impaired Consciousness Research Group at the University of
Cambridge. In fact, delaying the second stimulus by more than 200 milliseconds is enough to
demonstrate some learning, he adds. By comparison, people under general anesthesia, considered
to be entirely licking awareness, showed no sign of such learning when given the tone and air-
puff test.

The detection of learning, described in the September 20 Nature Neuroscience, also
opens up questions about when patients should be classified as being in a persistent vegetative
state, in which emergence is not predicted to be likely. (Terri Schiavo, the center of a heated
national debate in 2005, was determined to be in such a state.) Decisions to end life support often
depend on predictions of recovery and assessments of consciousness. 1f “someone shows the
patients can learn,” Bekinschtein says, “I think it would be a very clear argument.”
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Indeed, the researchers found that learning ability accurately predicted the extent of

recovery within the next year about 86 percent of the time. The neural reorganization that
bypaszes damaged parts of the brain “implies that there’s room for at least some recovery,”
Bekinschtein notes.

The findings do not surprise everyone. Research using functional MRI on vegetative

patients had already led John Whyte, principal investigator at the Neuro-Cognitive Rehabilitation
Research Network at Thomas Jefferson University in Philadelphia, to question the designation
system. It may be that “there is a firm line between vegetative and minimally conscio

patients,” he observes. “But our tools are too crude to tell us who is on which side of lh@

Or it may be that categories of consciousness are not so casy to define. Qc

The learning tests probably could not mmphtﬂy supplant h, a
neuroscientist at Columbia University, says that “functional imaging is of choice”
in determining consciousness because it can reveal “cognitiv aren't visible
through (traditional) bedside tests.” Bul neurcimaging can be e hard to come by in
many plm:ts note Bekinschtein, Etgnnn and therr study col uch of the testing was
completed in Argentina, where imaging capabilities uan ble than in the U.S, or UK.
For this test, “you just need two wires, and it co ;" Sigman states, “In practical
terms, it has strong implications.” 6

(Excerpted from “Critical Cnnsmm@'n Harman, Scientific American,, December,

2009, p. 1) \

1. New research in studies

s activitics in patients with severe brain damage suggests

guish between mentally alive and mentally dead patients.

C %ﬂgmg the actual and potential level of awareness of a patient is very difficult.
&} no of the above. [ ]

Old research correlated a minimally conscious state with

(A) evidence of perception.

(B) evidence of intentional movement.

(C) either (A) or (B) or both,

(D) none of the above. [ ]

A problem with the tests in the old research was the problem of determining
(A) whether the observed phenomena in the patient was purposive and genuine.
(B) whether the observed phenomena in the patient was random.

(C) both (A) and (B).
(D) none of the abave. [ ]
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4. The new research employing the neuroimaging techniques

(A) seems to show that all vegetative patients show some activity in the bram.

(B) seems to show that some vegetative patients show some activity in specific parts of
the brain.

(C) is equally open to subjective interpretation as the old research is.

(D) all of the above. g | ]

5. In a classical conditioning - like experiment

(A) the patients were minimally conscious to anticipate the later stimulus when

to the prior stimulus.

(B) the behaviour of the patients can be best explained by ascribing minima

consciousness to them.,

(C) the patients' blinking was ambiguous. 2

(D) None of the above can be inferred. . O [ ]
6. The snail example shows that the near simultaneity o M stimuli

(A) may lead lo an erroncous conclusion that s onscious life.

(B) may lead to an erroneous conclusi atients have conscious lives.
(C) Both (A) and (B)
(D) none of the above [ 1
.
7. If there is conscious ciating two stimuli, then
(A) the sti istered at least 200ms apart.
(B) the sti administered at most 500ms apart.
(C) the be administered at any mterval,
(D [ ]

In ‘a ical conditioning - like experiment

B
(A) while some vegetative patients showed sign of conscious activity, the peaple under
general anesthesia showed conscious activity when the effect of anesthesia decreased.
(R) while some vegetative patients showed sign of conscious activity, the people under
general anesthesia showed no such activity.
(C) while all vegetative patients showed sign of conscious activity, the people under
- general anesthesia showed no such activity.
(D) none of the above can be inferred. i ]

9. The new research to the extent it can detect conscious activity like leamning in
vegetative patients can

(A) help arrive at a clearer classification of persistent vegelative state.

(B) do no better than the previous attempt at classification.
(C) only muddle the debate as 1o what is conscious activity.
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(D) show that none of the above holds. [ 1

Since the decision to end life - support system to vegetative patients is dependent on
prediction of recovery and assessments of consciousness,

(A) the new research with neuroimaging is a step in the right direction.
(B) the previous research admitted ambiguity in the assessments of consciousness activity

in patients and hence is less useful.
(C) both techniques may turn out to be useless in helping make that decision.

(D) Both (A) and (B) [

The new research seems to help hypothesize O

(A) that there may be a firm line between persistent vegetative stat imally
conscious state. \g

(B) that the tools to demarcate the persistent vegetative t\ inimally conscious
state are still very crude at this moment.

(C) that the categories of consciousness aré not
(D) (A) +(B) + (C) [ ]

If categories of consciousness are @ﬁlﬁ, then
(A) there may not be a todl a@ demarcate the persistent vegetative state

and minimally consci

(B) any tool that we provide us with a tentative answer to the problem.
(C) the moral when to remove the life - support system cannot be resolved.
(D) (A) + ( [ ]

The Ec@ also shows that the leaming ability result -

(A)i ngly predictive of extent of recovery within one year.
(Bpis predictive of excellent recovery.
C) is predictive of no slipping into vegetative state,
(D) all of the above. [ ]

The functional MRI technique is one of the preferred tools because

(A) it 13 a non-invasive brain imaging technique which gives clues about cognitive
activities. .

(B) 1t is a technigque which is favoured by the scientists,

(C) the old techniques are invasive techniques or folklore kind of techniques.

(D) none of the above [ ]
The classical conditioning technique is an important tool because

(A) it is non-invasive, bedside and very affordable.

- (B) it can be set up 0 a poor country
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Part C

Section 1 Marks 15
Write short notes on any three of the following in 250 words each. All questions carry equal
marks,

1. What is khyati? Distinguish between asarkhyati and anyathakhyati.

2, Explam the reasons for having doubtful cognitions.

3. Elucidate the various stages involved in upamana as a pramana.

4, What are the arguments of Myaya to prove the existence of the Self? @
5. What is the place of tarka in Nyaya epistemology? O
6. Was Locke justified in subscribing to the notion of Substance? O

7. Why did Hume give more importance to Passions over R‘enau ' ra }"‘?

8. How does Kant establish the objectivity of an absolutetmdtg iple?

2. Bring out the distinction between the Humean and shelk \. analyses of causality

P
=

Prove that a set of sentences, T, in sentential gic (fropositional logic) truth-functionally
entails a sentence, P, in sentential logic_if and onlyif the set I' U{~ P} is truth-
functionally inconsistent.

Section 2 ‘\6 Marks 20
Answer any two i’:%“rd: each. All questions carry equal marks.

lnate Dravya as a category.

n-existence exist? Discuss.

What do you understand by Brahman?

What is incommensurability thesis? What are its implications?

& i 5. Evaluate Locke’s distinction between Primary and Secondary qualities.

6. Discuss Wittegenstein®s idea of meaning as use.
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